YF7H113.04cm?l o] YFUH. ©] Yo ¥Hx 5] Zeol=H em
AY7F?
= cm

>
> =gt

od - 18@

113.04 + 3.14 = 2 = 18(cm)




29) e19] oI} 188.4cm < A WA Lol F cmLI7A?

@ 10cm @ 15cm ® 20cm @ 25cm @300m

(99 E9) = 2x(9 2 €A E) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt




S0l Z+Z} 5cm , 10em §1 HFA7F 54 5 HH= 12,56 m
ol HER AAEo] AFYrh F v 9 31 49 ghol 300
Rl IS R R K S R

n
=2

HEZ] 59 H7F 1 : 20|22 o vk 1: 29 Y. mEhA
ZF2 vh = 200 2], 2 ¥H= 100 3] FY T

12.56 m = 1256 cm

= HH17E1009] = W WE=

10 x 2 x 3.14 x 100 =+ 1256 = 5(H) 3] A},




4. wAEol 4em?] 9] YFE¥HAE] 3eml 919 AF] A7t
emQ14) T5HA 2.

» E: cm

> HEH 6.28cm

D «
HE2] 5ol 4cm?l Yo YFE FotH
4x2x3.14 = 25.12( cm)
HE2]50] 3em Q] Yo YFE F5tH
3x2x3.14 = 18.84( cm)
T 9] YFo & 5
25.12 — 18.84 = 6.28( cm) YUt}




5.

Z]5°] 80cm?l ST LIt 202 g

ozt A @ mdy7t?
> g

> HED 20.096m

=

0.8 % 3.14 x 8 = 20.096( m)




